PR () Wnllelalyiplita 2024 72m2112 4

WY NMYRW

STVINTT 2V P TAN0AR W La, b 2R 1w 9D ,NIRIDI2 1N230K 22 MDPN NN NIVLAW W .1
AW DOWDWH 7Y K

a=bWRaNb=aVbor (R)
aN(aVb)=a (2)
—(aVb)=-aAN=b (3)

aANb=anX a<b-Wa,be& B DMK 1w 937 TN NN 729K Boan .2
0 0w 1 oawopn oy B 9y phn 70 e i (R)

TNRNT QoNM a V b-2 M o™p <-% D2 PN PRV Q0 La, b € B 02N 1w 905w mon (2)
a A b-5 mwn o»p

PR 0 DY 1 Dvavopn oY NpYR A0 XA P-w mn (3)
.a A\'b 01w 1ININ QoM ,a V b 101w Py 0on v a, b € P oMKk 1w 237 .1
aVvVb=1raANb=0-wTpbePopac P % .2
AP a,b,c € P 937 .3
(avVb)A(aVe)<aV(bAc)
ST AP0 MY NPIRTDI 720K (P A, V, 1, 0, 1)-w o
v(a) <v(b) o»pnnv: B — 2 mnwn 2% ok pn ok a < b-w o (7)
Y 20M , A 2R 232 AN IR W P 9w 12K K10 A Sw non ,A C P-YamTo ax1ap P ar :n7om
(@p XMW 7man2) A Sw DOnonn 9 9w 2vadnn Rt A Y
MR 72298 B-w 111 .0 < b < @ 27pni b 2R PRY 79 @ 7 0 92K R MR 729K YW 2N .3
010
a < bDWR W b £ 0 2R 2270 M0 (R)
TP NN2IORY NODIIMIPR B-w o (2)
TR NN2IORY NODIIMITR 272 1R NPDI0IR NPIND1A 720K W ()

1 7y



